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SUMMATIVE ASSESSMENT -I (2011)
Ganfora wen—I 480023
SOCIAL SCIENCE / sHifsie fagm
Class - IX / s&hem—IX

Time allowed: 3 hours Maximum Marks: 90

iR w99 : 3 goe AP aT 3P : 90

General Instructions :

The question paper has 31 questions in all. All questions are compulsory.
Marks are indicated against each question.

Questions from serial number 1-10 are Multiple Choice Questions. Each
question carries one mark.

Questions from serial number 11 to 22 are 3 mark questions. Answer of these
questions should not exceed 80 words each.

Questions from serial number 23 to 30 are 5 mark questions. Answer of these
questions should not exceed 120 words each.

Question number 31 is a map question of 4 mark from Geography only. After
completion, attach the map inside your answer book.
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TS AT 11 ¥ 22 9P IIS U 3 3P BT 2| §H I UAP U Pl IR 80 Al
1S &l BT =Ry |

U W1 23 9§ 30 A% UAP U 5 AP B §| S99 W UJdD U P IR 120 &l A
A & BT =LY |

Ue W& 31 Bhad e W AFE SRl 4 3(d BT U & | AFEE R SaR forEd &
g8 SHBT MU Ik GRADI B 3FaR I BR G ST |

1. The term used for the indigenous people of Africa South of Sahara desert is : 1
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(@) Gypsies (b) Negroes ;@mycasgmde. com
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() Lamas (d) Mangols
HERI HHES oh SI&T01 H STHhIehT o THIT BHT 1 A1 hgl STl o1 2

(@ (b) A
(€  om (d)  HMo
The tax called "TITHE” was collected from the French peasants by : 1
(@) Nobles (b) Church
() Emperor (d) Army Commander

W & fRaMl § ‘2Re’ T X fFa % GRI Sgel S o2

(@)  FOHi % gW (b) = % FW
() TSI EN d)  HTYHE % 5N
Which of the following states of India does not share its land boundary with Pakistan? 1
(@) Rajasthan (b) Punjab

() Himachal Pradesh (d) Gujarat

frefafed o & forg T3 1 Himn wifeem o1 76 =it 72

() IS (b) ST
(c) femmet e (d) TR
Which of the following rivers does not make delta ? 1
(@) Narmada (b) Kaveri
(c) Godawari (d) Mahanadi

frefofaa & 9 wF 9 7€ Soer o1 fmio 7€ wd €2
(a) THA (b) R
(c) TRl d) TR

Which was the only country in the world to grant Universal Adult Franchise to its citizens by 1
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a Russia b) German
y
() USA (d) New Zealand

1900 ek TATIEhT skl Tl ifiyeh ah HAfeeh <4 o131 ThHTS <9 ShIH-91 91 ?

(@) ®F (b)  STHA

(0 WIF T (d) e

Choose the correct meaning of the term “VETO” : 1
(@) It means to pass a decision by majority.

(b) It means to pass a decision by two third majority.

(c) It means the right to stop a decision by a single member.

(d) It means to adopt a decision by a single member.

YTy gt el R wE et T

(a) =gHd 9§ uiRkd folg

(b) < TR sgHa @ wiRka foi

(0 TH ues gl Fofa e 1 safenr

(d) T HeH gi o wiftd e

Who among the following was not a member of the Constituent Assembly? 1
(@) Abdul Kalam Azad

(b) Mahatma Gandhi

(c) Rajendra Prasad

(d) Durgabai Deshmukh

T8 9§ i SAfed Hiau™ T9 1 9SS -Ter 917

(a) TGV M IS
(b) T TR
© TS= 9HR
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8. Whatis the basic constraint in raising farm production ? 1
(@) Lack of technology
(b) Poor irrigation facilities
(c) Fixed Land Area
(d) Poverty
Ff ST T H AT FIE A H 72
(@)  RTeRl 79
(b) o= gfaen & &+
(c) fft=m yfy &=
(d) i

9. What is the major aim of ‘Sarva Shiksha Abhiyan’? 1
(@) To provide elementary education to women
(b) To provide elementary education to rural poor
(c) To provide elementary education to all children in the age group of 6 - 14 years
(d) To provide elementary education to urban poor
‘e faren i’ B A SR R E ?
(a) Tfcersii s wrafies e <
(b)  iTa & RIS w1 wrfies e <)
©) 6-14 8 % & Gt = o1 Tfhes e <A
(d) wEh TS = o e <

10- " Which one of the following comes under secondary sector? 1
(@) Mining (b) Banking
() Weaving (d) Farming
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14.

15.

16.
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(© I (d)

Explain three factors which led to the rise of Hitler in Germany. 3x1=3

ST H feeer & 38T & A el ol TE HifT |

OR
‘Liberals of European states were not democratic.” Justify the statement by giving three 3x1=3
examples
" i T o SERATS! rehdli-=ieh 8l &'’ 9 SR < L 39 HeH i IE Fiford |
Explain the impact on Germany because of her refusal to pay war compensation in 1923. 3
1923 §. H, SHAT W & T I I Sl FebH H FAT il W, STHA W IS ATl GHIE i ST
HIFTT |

OR
Which steps were taken by Lenin to improve agriculture and economy of Russia ? 3
&Y H oY Tdl sAefeeredn § UR @M 8q <9 R 38R T shedl 1 foero i
What is the significance of India’s location ? Highight any three points. 3
IRA i sTafefd =i deaqul §7 & 9 fogail ol ISR Sifs |
Explain the terms Bhabar and Terai as relief features of Northern Plains. 11;2"'11/ 2
I HEM FT Friiferss spfaedl & €9 H 9eR qo1 2UE Tt AR Hife |
How is Himadpri range different from Himachal range ? Mention any three differences. 3

el veia Soft fedr=rer 9oft 9 forg werR fim €2 i A9 A< saEw|

Differentiate between the salient features of the East flowing rivers and the West flowing 1%2+1%2

rivers of peninsular India. =3

Td iR ufyem &t IR a-A arelt yrgtd afe w6t g fadmareti § s fafew
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18.

19.

20.

21.

22,

23.

24.

25.

) ) ‘@ myCBSEguide.com
Explain any three salient features of democracy. e

Aeha=t ! forel diF farsareti st =are shifse |

“Democracy enhances the dignity of citizens” explain.

* Brec = AATIGRT o TIIRAT b1 ST@Ta1 & | AT i |

What is meant by “Secular” and “Sovereign” ? Explain.

‘erffder’ ue Ty 1 R oref § 27 TR i |

Mention any three negative effects of Green Revolution.

&Rd ifd & g O ThRcAes 99T fofay)

Why is “Educated Unemployment” a peculiar problem in India? Explain.

forfard SRISTTY 9RA o ToTT Uen fomiy o =i & 2 e St |

Give reasons to explain why women are engaged in low paid work ?

TfgeTiali o1 T 99 ol wEf § & W & HRUN ol T I |

What was the main aim of the French National Assembly ? List out the main features of the
Constitution of 1791 ?

WIE i e STEe 1 A ds 1/ 1?7 1791 % Giau™ wt g fawmarsti w6 gt AR

Describe the social causes leading to the outbreak of French Revolution.

RIS Shifd o TTHISTSR HION Al 0T hIfST |

Who all were considered as “undesirable” by the Nazis and why?

Tl g Tt Geren! aTaifesd | 731 1R = ?

OR

How were the Russian peasants different from the other European peasants? Write any five
differences.

3x1=3

1%2+1%>
=3

3x1=3

5x1=5
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31.
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‘The diverse physical features of India are of immense value’. Justify the statement by
giving five suitable examples.

* R w1 fafaeraryel Jifas ey agqed &' 39 wUF i g o Ui Suge Sere it |

What is a military coup? Why can’t Pakistan under General Musharraf be called a true
democracy?

Jf1eh TG F T ? SRS YIRE o VA o ST U ht I SAaET sl Tl alshas
| T8l el ST TRl © 7

What is constitution ? What is its importance ?

Higer ford wed €2 US4 FHF § 2

How do the medium and large farmers obtain capital for farming ? How is it different from
obtaining capital by small farmers ?

HEiel e g foRe™ @t o fTw STt ShE W I § 2 98 e Bie ol g St U T i
I o i 72

Explain the initiatives taken by the Government to improve elementary education in India ?

IRT § Wefien fre § uR aH ®i fen § IR R T ¢ 96! o6t SAmet St |

Two features (A) and (B) are marked on the given political outline map of India. Identify
these features with help of the following information and write their correct names on the
lines marked in the map.
(A) A mountain range.
(B)  The river which form an estuary.
AND
Locate and label the following on the outline map of India.
(i) Anaimudi peak
(i)  Southernmost point of the Indian Union

feu gu 9Ra & TSHifae TemEfe | 3 faRvand (A) o (B) fafed @t W ¥ A= & owR
STHFM ] el 9 37 fasivared &1 9gam Sy 3R AFied R fafed Wi = 76 96 T
fafaq |

(A) TR TS FEe

5x1=5

215421/
=5

2+2=4
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I e W IUgE Hondl g1 FAfafad i geize 3R 9% wel W fafey |
(i) el =
(i)  RdE & I SR fog
31B. The following question is for the visually impaired candidates only in lieu of
Map Q. No. 31:

FrAfafaa o Shaer iy s wrenfefan o fau uvm e 31 & R Wy 4x1=4

1 Name the longest river of India.

N

Name the southern part of West coast.

W

Which is the highest mountain peak in India ?

N

)
)
)
) Which strait separates India and Sri Lanka ?
1) |G <l o9 sl T&1 shl M SET |
2)
3)
)

4

f¥=y de & SRI0T YN Rl 919 IqET|
YR i Hai= Tad =iel shid T &2

(
(
(
(
(
(
(
( IRA TS Hicishl 1 A H 1 G fariog w82
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